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(9 marks)
Notes:
(C))

M1: Finds x in terms of y and differentiates
M1: Uses the trig identity sin?y + cos?y = 1 to express cos y in terms of x
A1*: Correctly achieves the required answer. cso

(b)

M1: Splitting the fraction into two separate expressions

M1: Integrates the first fraction into the required form

M1: Integrates the second fraction into the required form

A1: Correct integration of f(x)

M1: Applies the correct method to find the mean value over the required interval
A1l: Correct answer




